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@1.(8 pts) Choose the correct answer in each of the following:

1) In which of the following structures, does the central atom have a zere fermal charge?

H3C\‘ _cH Hac\(l) _CHs MO oy \‘ _cH
~ [P prd e
C;/ ‘ b. c. d
CHs CHs
.2) The iriost stable, conformation of 1,2-Dibromoethane is :
g H H
Br H
Br H Br H
H Br
c d.
a. H-F c. H-N d. H-O

»4) The structure of prostaglandin is given bellow, then the molecular formula of the
compound is

cae\tr ¢ 6;

a. CzeH4205 b. CaoHz¢Os d. C21H340s

&  5) Whichofthe following has the highest of nitration?

5 5O O




6) Which of the following is deactivating and o- and p-director?
COOH, Br

NO, -

&~

7) Which of the following alkanes would have the highest boiling point?
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8) The mgps&abluonfomational isomer of trans-1-ethyl-2-methylcyclohexane is:
@ Et ®) Et (c)}* H (@ H
H | -H — Et Et
Me H r}// Me H
H Me H Me
SR,
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Q2.( 2pts) Examine the reaction energy diagram for the following reaction and answer the questions

bellew.
A + B—>» C + D
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Q3.(5 pts) Classify the following pairs of structures-as structural isomers, conformers, cis-trans
isomers, or not isomers. :
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Q4.(9 pts) Complete the following reactions by writing the structure of the major product(s).

Indicate the stereochemistry where appropriate.
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Q5. ( 16 pts) Draw the required structure in each of the following:

1. Two resonance structures for the following cation; indicating the atom that is going to bear
the positive charge in each. ‘

1

2. The Structure of the intermediate formed upon addition of H,O/H to 2-methy1-2-pentene.

5 L
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3. Sec-butyl iodide ;
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@ CsH, that shows cis - trans isomerism.
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5. The most stable resonance structure of the intermediate formed upon mtratlon of phenol.
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. 7. The initiation step of the following reactio;:: S Me igtiee chlifiel
light "

H,C—CH; + Cl » HyC—CH,Cl + HC
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8. The structure of A in the following ozonolysis reaction is
O 9O (ON O
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Q6. ( 12 pts) Write a correct [UPAC name for each of the follwoing structures:
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Q7. ( 4 pts) Show how you can synthesize each of the following stating from benzene.
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